Mathematics
Arithmetic: Test 6
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Key Stage 2: arithmetic paper 6

1 Q01 + 100 =
2 | 562-100 =
3 198 + 30 =
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4 | 707 -600 =

5 | 34x9-=

6 Q3 + 3 =
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q | 8345+ 1000 =
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10 | 1317-1000 =

11 | 4722 + 3589 =

12 | 9211-722=
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13 | 8xA=

14 | 87 x0 =

15 | 755x3 =

©twinkl.co.uk. You may photocopy this page. o



16 | 638 x8 =

115 _
17 | 12+2°

8 2 _
18| 9-9-
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19 | 38+05=

20 | 6.77-0.09 =

21 | 82+10=
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22 | 57+ 100 =

23

O‘lU‘I

of 18

24 | 8.1-243=
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Answer Sheet: Key Stage 2: Year 4: arithmetic test 6 w

Guidance: Children will have 30 minutes for this test.

question answer marks question answer marks
1 1001 1 22 0.57 1
2 462 1 23 15 1
3 228 1 24 5.67 1
4 107 1 Total 24
5 306 1
6 31 1
7 % or % 1
8 % or % 1
9 9345 1
10 317 1
11 831 1
12 8489 1
13 72 1
14 0 1
15 2265 1
16 5104 1
17 :—6 or 1% 1
18 % or % 1
19 43 1
20 6.68 1
21 8.2 1
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